AR 8 = %

A48 == AN
20124F 8590 BATEREYvh—Y—Y HH SHRES Hik L
28fB B 8 i
H 2012/11/11(B) 14:15 kick off AR 905 =54 RREAZE (KNRT AU RAER A2 T1—ILEG)
x & 53] EvFiREE AIZ BE¥ KEH | R A CE # 40 A
HERERE EE =5 E = 8RB INEF GEAD
x = =@ i B B 8 B2 PrAt fdat HIDEY Hist BEAER
2 B2 1 KICK OFF
EEERAS 3 - 1 N
NI L To&e 0 8 27 5
xR va—t 5 % E % AR | R % = 5 Sa—Fk ZH
No.| % |90|75/60/45]30|15/5+ = = 5 EB|IB|5 = = 5t/15/30[45/60/75/90] % | No.
HAE $hRER 1 GK|[|lgK| 1 EE K#
N ich = 5 DF||DF 16 | F=BEIJI HX
N 2H EfT 18 DF |[DF 5 R &2 1 1
N HEA B 23 DF |[DF 3 8% A
" MK R 24 | DF ||DF 43 Wik /e
= BEXER 6 DF|[|MF 22 iR E& HT
1 1 s RF 7 MF|IMF 30  Hf X 1 1 N
RFEE #X |22 MF|[MF 28 Bt fIE 74
1 1)1 ¥ &— 11 MF|[|MF 17 Ef EiE 2 1 1
111 4 TRl HEX 16 MF [|MF 29 UNERCUN ;
10112 2 A IBE 10 FW[|[Fw 23 L5 {6 1/3 1 101 N
MR #EEB 41 GK||GK 61 fic] S
Bl EE 2 DF||DF | 11| {EAK HiE
TR 39 |DF ||DF 33 INEF HERR
AT EE K— 14 |MF ||MF| 8 EA B 22
BE E 13 \MF |[MF| 35 BER £
Bl KB |26 MF|[FW 37 AL e 28
thE ZA 9 FWJ[|FW 9 it &=
Z &R 5 e | wise A= wr e | gg s Zz &£-E 15
B 2E E F & e e FoLaH A B mm mm ® F &
50 Cl 6 =& FEXER 4 4 8 a—k 7 3 4 90 Cl 8 BEHE B
84 | C1 |18 2H BT 3 3 6 G K 6 4 2 ‘
| 0 2 2 C K 5 1 4
4 9 13 EIEFK 17 | 9 8
L 2 RfEFK | 2 |1 1]
1 1 2 (#7141 1 0 1
0 0 0 P K 0 0 0

CENZATYA FEOKFZ. BEI)-Fv0BDI54TH M FICLBEDERT .
[(Z&EH] C1: RAR—YMITA, C2: 57711, C3: R, C4: #ENRLMER. C5:EILTA. C6: IR E . CT: |{EFAI A, C8: EHFAI X
GRIZEM] S1:EFKFEGTLA, S2: ELRBITAH. S3:DIEHE, S4: G REKMELE (F), S5: FRHMMIE (). S6: RE. CS: E&H2H

B | F—L4 | R37 BaE TR (eIt 3]

9 MBMEX 1-0 |10 E@A IRFE PIY7F AT LFK10S
16 |BIEX | 2-0 |10 | EH WFE | 6 F EKER HY¥4M6 1 PIY7RR10S
21 | IBEK | 2-1 | 23 LB (L P17 x 23S

73 | BEEKX 31 | 11| K &— PIN7HRE X 11S

(~:FUFN —TUSVFISA 1:BEESA S:va—b HATAYY x:RBE)
KEFFREOMHTIEN=784 LERLET , [+ IRFE>ARIM LPORFBH HETLET
(%]




